
12.       Atomic Nucleus, 2
lecture 35, November 20, 2017



housekeeping
Coming attractions 

Next week: 

lecture today and tomorrow 

chapter 12 homework due Wed 11/29…HW workshop Tue 11/28 

no class day after tomorrow 

End game: 

I’ve made some adjustments to the schedule…stay tuned, now, week by week 

exam #3 is Friday, December 1 

I’ve not given any quizzes…have you noticed?  I’ll add that percentage to the 
homework fraction
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Atomic nucleus - continuing
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Spin

Nuclei have spin
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These binding energies per
 nucleon  

vary
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Iron - must lightly
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Nuclear Models

Very much a phenomenological exercise

Historically -
.
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two broad classes :

Liquid Drop Model ( Bohr  1936 )

Independent Particle Model aha shell model ( Wigner ,
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Meyer  ~ 1948 )
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sorta goes
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Shen model
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Maria Goeppert Mayer 
1906 - 1972



shell model &
Stability

it
 makes  some  serve
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